
EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data – Contents

Project: Model: Chk’d: Date:

Section Page

Motor Protection 3-238

Thrust Bearing Thermal Protection 3-239

Leakage Detector 3-240

Cable Entry 3-241

Cable Connector 3-241.1

Mechanical Seal Sectional Drawing 3-242

Mechanical Seal Lubricating Oil Qty
DSC3/DSC3A 3-243

Mechanical Seal Lubricating Oil Qty
DSZ3 3-245

Mechanical Seal & Bearing Specifications 3-246

Bearing Lubrication 3-248

Paint Specifications 3-248

Special Tool List 3-249

Hydraulic Data 3-250

3-237.1
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Thermal Protection

The motor shall be equipped with a protector such as automatic cut-off device and thermal protector. The motors described
below shall incorporate Miniature Thermal Protectors (MTP) which are embedded in the windings.

When temperature of the winding raises and reaches the MTP acting point, the motor protection circuit is activated to protect
motor from over heat.

1. Applicable model
Model: DSC/DSCA, DSZ

2. MTP Specifications:
Model KLIXON 9700K-66-215
Type of Contact b (Normally-Closed contact Acting-open)
Acting Temperature 140±5°C (284±9°F)
Re-setting Temperature 85±10°C (185±18°F)
Capacity of Contact

3. Installation:
MTP shall be embedded in
the stator windings as
shown at right—

4. Construction:

Construction of the MTP is as shown below:

Voltage (V)

Amperage (A)

DC 24

18

AC 115

18

AC 230

13

AC 460

5.5

3-238
rev. 01/10

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Thermal Detector for Thrust Bearing

1 2 3 4 5

ø
3

ø
6

HIGH TEMP. EPOXY RESIN

20 2000

614

ø
9.

5

METAL

40

ø
10

FIG. 5-5 R.T.D.

70

WHITE

RED

TEMPERATURE RANGE: –50∼150°C

ASSEMBLY OF BEARING
TYPE TEMP. DETECTOR

No.

1

2

3

4

5

Parts

Resistance Bulb

Cap

Lead Wires

Spring

Self Lock Retaining Ring

Material

—

Stainless Steel

—

Stainless Steel

Spring Steel

Remarks

Pt 100 ohm at 0
••
C

Max. current: 5 mA

7/ø0.16  Teflon-Teflon

UNIT : mm

Recommended bearing high temp. trip setting: 85
••
C (185

••
F)

3-239
rev. 01/03

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Leakage Detector
A built-in float type leakage detector with an encapsulated dry reed switch within the stem is fitted
to sense leaking of pumping water and/or seal oil into the motor as a result of failure of the 
mechanical seal.

1

2

3

4

ø8

ø25

PF1/8

(3
00

)
17

.5

27

42
15

UNIT : mm

Part No.

5

4

3

2

1

Part Name

Stopper

Float

Housing

Nut

Lead Wire

Part Material

316 S. Steel

316 S. Steel

316 S. Steel

316 S. Steel

Heatproof Polyvinyl Chloride Wire (UL1430, AWG22)

ASTM, AISI Code

AISI 316

AISI 316

AISI 316

AISI 316

No. for 1 Unit

1

1

1

1

2

5

Inside Diameter

ON

SWITCH RATING
CONTACT RATING : Breaking capacity : AC50VA/DC50W

: Max. breaking current: AC0.5A/DC0.5A
: Max. operating voltage : AC300V/DC300V

CONTACT TYPE : B - CONTACT (NORMALLY CLOSED)

3-240
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Cable Seal – (Standard Supply)
EBARA submersible pump model DSZ3 employs a highly reliable cable entry system with a single piece 
construction that provides easy maintenance.

CABLE

CABLE HOUSING

GROMMET

WASHER

O-RING

O-RING

CABLE GLAND

BOLT

CABLE CLAMP

3-241
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Cable Connect System
When a pump is shipped out, a specially prepared cap will be provided in place to 
cover the cable connection opening; the pump and cable are shipped separately.

Features:
• The cable connect system allows for ease in the shipping and handling of larger pumps

- Decreases the risk of any damage to the heavy cables that can occur during the shipping of larger
(50-800 HP) pumps.

• Easy cable connection and disconnection at installation sites
- During installation or regular maintenance checks, cables can be disconnected from the pump and motor

rather than the electrical panel. The pump and motor can then be moved easier or worked on separately
from the heavy cable, further eliminating the possibility of damage to the cable.

• Functionality of connecting and sealing cables in one system
- Typically, cable connection occurs at a terminal board inside the motor with sealing at the cable entry

point. The Ebara cable connection system functions as the terminal board and cable entry, therefore
eliminating the possibility of water entering the motor through the cable.

• Features a triangle connector that eliminates the possibility of erroneous connection that can occur during
maintenance.
- This is a fail-safe system available only with Ebara H-series pumps.

• FMRC approved and is available for both FM explosion proof and non-explosion proof motors on Ebara's
H-series pump models.

3-241.1
rev. 11/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Mechanical Seal – (Standard Supply)
Ebara DSZ3 pumps employ the cartridge type, duplex mechanical seals in tandem arrangement.
Cartridge type mechanical seal provides
• Easy maintenance because it is handled as one unit
• High reliability due to assembly and adjustment separate from the bowl unit
Duplex mechanical seals in tandem arrangement provide
• High reliability because of dual seals construction
• Long life operation with oil lubrication

Part No.

5

4

3

2

1

Part Name

Independent Springs

Seal Ring (L)

Stationary Ring (L)

Seal Ring (U)

Stationary Ring (U)

Material

Stainless Steel

Silicon Carbide

Silicon Carbide

Ceramic & Stainless Steel

Carbon

5

MOTOR END

OIL CHAMBER

PUMP END

IMPELLER

PUMP MOTOR SHAFT

3 4

1 2 5

43

3-242
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Lubricating Oil for Mechanical Seal

Project: Model: Chk’d: Date:

Model DSC3/DSCA3

3700

3600

3600

4000

4000

5300

5800

5800

6500

7500

7500

7500

5800

5800

7900

9700

9400

11300

12200

12200

12200

11700

11600

11600

12200

16300

16300

16300

16300

16800

12000

16300

16300

Contact
Ebara

18800

18400

18400

18400

37 (50)

45 (60)

55 (75)

55 (75)

75 (100)

90 (120)

45 (60)

55 (75)

75 (100)

75 (100)

90 (120)

110 (145)

30 (40)

37 (50)

45 (60)

55 (75)

75 (100)

75 (100)

90 (120)

110 (145)

132 (175)

37 (50)

45 (60)

55 (75)

75 (100)

110 (145)

132 (175)

150 (200)

160 (215)

185 (245)

55 (75)

75 (100)

90 (120)

37 (50)

45 (60)

55 (75)

110 (145)

132 (175)

150 (200)

160 (215)

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

C1103-1760

C1203-1770

C1943-885

C1943-710

C2113-885

C2113-710

C2373-710

4

4

C1463-1170 6

C1583-1175 6

C1583-880

C1793-885

8

8

8

10

8

10

C2113-593 12

10

Contact
Ebara

20400

20400

20400

20400

20200

20200

Contact
Ebara

Contact
Ebara

Contact
Ebara

Contact
Ebara

Contact Ebara

3300

5700

5700

5700

7500

9200

9200

9200

19800

Contact
Ebara

Contact
Ebara

55 (75)

75 (100)

90 (120)

110 (145)

150 (200)

160 (215)

185 (245)

200 (265)

220 (295)

250 (335)

90 (120)

110 (145)

132 (175)

185 (245)

200 (265)

220 (295)

250 (335)

280 (375)

15 (20)

22 (30)

18.5 (25)

22 (30)

30 (40)

30 (40)

37 (50)

90 (120)

110 (145)

132 (175)

110 (145)

132 (175)

150 (200)

160 (215)

250 (335)

280 (375)

315 (422)

355 (475)

18.5 (25)

22 (30)

30 (40)

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

C2373-593

D0852-1760

D0922-1760

D1002-1760

D1262-1770

D2503-710

12

C2573-710 10

C2573-593 12

C2953-593 12

4

4

4

4

D1553-1175 6

10

E0852-1760 4

3-243
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Lubricating Oil for Mechanical Seal

Project: Model: Chk’d: Date:

Model DSC3/DSCA3

9300

9300

9100

9100

Contact
Ebara

11900

11900

Contact
Ebara

4300

4200

4200

4200

4400

4400

6400

6400

6400

6400

6400

7900

7900

7900

7900

7900

12200

12000

12000

Contact
Ebara

200 (265)

220 (295)

250 (335)

280 (375)

315 (422)

355 (475)

400 (535)

220 (295)

250 (335)

280 (395)

315 (422)

355 (475)

400 (535)

37 (50)

45 (60)

55 (75)

75 (100)

55 (75)

75 (100)

90 (120)

90 (120)

110 (145)

132 (175)

132 (175)

150 (200)

160 (215)

185 (245)

200 (265)

220 (295)

220 (295)

250 (335)

280 (375)

315 (422)

355 (475)

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

F1302-1780

F1593-1180

G0852-1760

G0932-1770

G1012-1770

G1102-1780

G1232-1780

4

6

4

4

4

4

4

Contact Ebara

3800

3700

3700

3700

3700

5700

570

5700

9100

9100

9100

9100

12200

12200

12000

12000

12000

18200

18200

18200

18200

18000

18000

18000

Contact
Ebara

Contact Ebara

3900

3800

6700

6700

6700

7700

7700

30 (40)

37 (50)

45 (60)

55 (75)

55 (75)

75 (100)

90 (120)

110 (145)

132 (175)

132 (175)

150 (200)

160 (215)

185 (245)

200 (265)

150 (200)

160 (215)

185 (245)

200 (265)

220 (295)

250 (335)

185 (245)

200 (265)

220 (295)

250 (335)

280 (375)

280 (375)

315 (422)

355 (475)

400 (535)

450 (600)

30 (40)

37 (50)

45 (60)

90 (120)

110 (145)

132 (175)

150 (200)

160 (215)

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

E0952-1760

E1052-1760

E1152-1770

E1262-1780

E1543-1180

E2244-885

E2424-885

F0852-1760

F1102-1780

4

4

4

4

6

8

8

4

4

3-244
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Lubricating Oil for Mechanical Seal

Project: Model: Chk’d: Date:

DSZ3

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

A0553-880

A 713-710

A0843-710

A1003-593

C1125-1760

C1455-1170

C1605-1170

C2185-885

C2905-710

V0494-1170

8

10

10

12

4

6

6

8

10

6

7.5 (10)

11 (15)

15 (20)

18.5 (25)

18.5 (25)

22 (30)

30 (40)

37 (50)

37 (50)

45 (60)

55 (75)

75 (100)

55 (75)

75 (100)

90 (120)

22 (30)

30 (40)

37 (50)

22 (30)

30 (40)

37 (50)

45 (60)

45 (60)

55 (75)

75 (100)

75 (100)

90 (120)

110 (145)

132 (175)

150 (200)

160 (215)

185 (245)

200 (265)

220 (295)

250 (335)

18.5 (25)

22 (30)

30 (40)

37 (50)

Contact
Ebara

3000

4700

4700

4700

4700

6900

6900

6900

6700

Contact
Ebara

Contact
Ebara

2700

Contact Ebara

3400

3400

3200

4500

4500

4200

7100

7700

7700

7600

10500

10500

10500

10500

10400

10400

Contact
Ebara

2600

2600

Curve No. Pole KW (HP)
Lubricating

Oil (CC)

V0494-880

V0554-1170

V0554-880

V0754-885

V0754-710

V0854-710

V0974-710

V1154-593

8

6

8

8

10

10

10

12

7.5 (10)

11 (15)

15 (20)

37 (50)

45 (60)

55 (75)

15 (20)

18.5 (25)

22 (30)

30 (40)

75 (100)

90 (120)

110 (145)

132 (175)

37 (50)

45 (60)

55 (75)

75 (100)

75 (100)

90 (120)

110 (145)

132 (175)

150 (200)

160 (215)

185 (245)

200 (265)

150 (200)

160 (215)

185 (245)

200 (265)

220 (295)

250 (335)

280 (375)

315 (442)

Contact
Ebara

2800

2700

2700

Contact Ebara

2800

2800

2700

5400

5700

5700

5600

5800

5800

5800

5700

5700

5700

5400

8800

8800

8800

8800

8800

Contact
Ebara

3-245
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Mechanical Seal and Ball Bearing Specifications

Project: Model: Chk’d: Date:

Poles kW  (Hp) Frame
No.

Mechanical Seal
Size (Dia. mm)

Ball Bearing Size

4

6

7.5 (10)
11 (15)
15 (20)

18.5 (25)
22 (30)
30 (40)
37 (50)
45 (60)
55 (75)
75 (100)
90 (120)

110 (145)
132 (175)
150 (200)
160 (215)
185 (245)
200 (265)
220 (295)
250 (335)
280 (375)
315 (422)
355 (475)
7.5 (10)
11 (15)
15 (20)

18.5 (25)
22 (30)
30 (40)
37 (50)
45 (60)
55 (75)
75 (100)
90 (120)

110 (145)
132 (175)
150 (200)
160 (215)
185 (245)
200 (265)
220 (295)
250 (335)
280 (375)
315 (422)
355 (475)

292
292
292
292
380
380
380
480
480
480
480
480
590
590

63
75
75
75

100
100
100
100
100
100
100
100
120
120

7220BDB
7220BDB
7220BDB
7220BDB
7222BDB
7222BDB
7222BDB
7226B+QJ
7226B+QJ
7226B+QJ
7226B+QJ
7226B+QJ

7226BDT+QJ
7226BDT+QJ

Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Triple Row
Triple Row

6212ZZ
6212ZZ
6212ZZ
6212ZZ
6216ZZ
6216ZZ
6216ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6220ZZ
6220ZZ

7214B+QJ
7214B+QJ
7220B+QJ
7220B+QJ
7222B+QJ
7222B+QJ
7222B+QJ

7222BDT+QJ
7226B+QJ
7226B+QJ

7226BDT+QJ
7226BDT+QJ
7230BDT+QJ
7230BDT+QJ

Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Triple Row

Double Row
Double Row
Triple Row
Triple Row
Triple Row
Triple Row

6212ZZ
6212ZZ
6212ZZ
6212ZZ
6216ZZ
6216ZZ
6216ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6220ZZ
6220ZZ

63
63
75
75

100
100
100
100
100
100
120
120
120
120

292
292
292
292
380
380
380
480
480
480
480
480
590
590

Contact EBARA

Contact EBARA

Contact EBARA

Lower–Thrust Thrust BRG Type Upper–Radial

3-246
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Mechanical Seal and Ball Bearing Specifications

Project: Model: Chk’d: Date:

Poles kW  (Hp) Frame
No.

Mechanical Seal
Size (Dia. mm)

Ball Bearing Size

8

10

12

7.5 (10)
11 (15)
15 (20)

18.5 (25)
22 (30)
30 (40)
37 (50)
45 (60)
55 (75)
75 (100)
90 (120)

110 (145)
132 (175)
150 (200)
160 (215)
185 (245)
200 (265)
220 (295)
250 (335)
280 (375)
315 (422)
355 (475)
400 (535)
15 (20)

18.5 (25)
22 (30)
30 (40)
37 (50)
45 (60)
55 (75)
75 (100)
90 (120)

110 (145)
132 (175)
150 (200)
160 (215)
185 (245)
200 (265)
220 (295)
250 (335)
280 (375)
315 (422)
22 (30)
30 (40)
37 (50)
45 (60)
55 (75)
75 (100)
90 (120)

110 (145)
132 (175)
150 (200)
160 (215)
185 (245)
200 (265)
220 (295)
250 (335)
280 (375)
315 (422)

292
292
292
292
380
380
380
480
480
480
480
480
590
590
590
590
590

380
380
380
380
380
380
380
480
480
480
590
590
590
590
590
590
590

380
380
380
380
480
480
480
590
590
590
590
590
590
590

63
63
75
75
63
75

100
100
100
100
100
100
120
120
120
120
135

7214BDB
7214BDB
7220BDB
7220BDB
7216B+QJ
7216B+QJ
7222B+QJ
7222B+QJ
7222B+QJ
7226B+QJ
7226B+QJ

7226BDT+QJ
7226BDT+QJ
7226BDT+QJ
7230BDT+QJ
7230BDT+QJ
7230BDT+QJ

Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row

6212ZZ
6212ZZ
6212ZZ
6212ZZ
6216ZZ
6216ZZ
6216ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6218ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ

7216DBD
7216BDB
7216BDB
7216BDB
7216B+QJ
7216B+QJ
7216B+QJ
7222B+QJ
7222B+QJ
7226B+QJ

7226BDT+QJ
7226BDT+QJ
7226BDT+QJ
7230BDT+QJ
7230BDT+QJ
7230BDT+QJ
7230BDT+QJ

7216BDB
7216B+QJ
7216B+QJ
7222BDB
7222B+QJ
7222B+QJ
7222B+QJ

7226BDT+QJ
7226BDT+QJ
7226BDT+QJ
7226BDT+QJ
7226BDT+QJ
7230BDT+QJ
7230BDT+QJ

Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row

Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Double Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row
Triple Row

6216ZZ
6216ZZ
6216ZZ
6216ZZ
6216ZZ
6216ZZ
6216ZZ
6218ZZ
6218ZZ
6218ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ

6216ZZ
6216ZZ
6216ZZ
6216ZZ
6218ZZ
6218ZZ
6218ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ
6220ZZ

63
63
63
63
63
75
75

100
100
120
120
120
120
120
120
135
135

63
63
63

100
100
100
100
120
120
120
120
120
120
135

Contact EBARA

Contact EBARA

Contact EBARA

Contact Ebara

Lower–Thrust Thrust BRG Type Upper–Radial

3-247
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Lubrication

Lower Bearing Upper Bearing Shaft Seal

Grease

NLGI grade 3

UNIREX N3

MOBILITH AW3

–

Turbine Oil (see Note 1)

ISO VG32

TERESSO 32

MOBIL DTE OIL, OIL LIGHT

SHELL TURBO OIL 32

Lubricant

Standard

ESSO

MOBIL

SHELL

Grease

Mobil SHC32

Note 1: Other lubricants may be used when the oil is not allowed.

Coating Spec. No.

Preparation

Materials & coating nos.

Color

Total dry film thick. (mill)

I

SSPC - SP - 10

Coal tar epoxy paint x 3

Black

8 to 18

II

SSPC - SP - 3

Zinc rich primer x 1

Gray

.5 to 1

III

SSPC - SP - 10

Zinc chromate primer x 1

Alkyd resin enamel x 1

Gray

2 to 2.5

Spec. No. I : surfaces contacting pumping liquid

Spec. No. II : internal surface of motor

Spec. No. III : surfaces in air

Note: Non-ferrous material and stainless steel are not painted.

Shop Painting

3-248
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Technical Data

Project: Model: Chk’d: Date:

Special Tool List – (optional supply)

Special Tool List Drawing No.

No.

1

2

3

4

5

6

7

Material

Steel

Steel

Steel

–

Steel

Steel

Steel

Supply

1

1~3

1

1

1 Set

2

1

Remarks

For impeller nut

For cable supports

For impeller

For mechanical seal

Name

Impeller Nut
Wrench

Hook Spanner

Extractor

Oil Pump

Hexagon Key
Wrench

Push Bolt

Tool Box

Sketch

3-249
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

General Information

1. PUMP RATED CAPACITY AND TOTAL HEAD
Pumping requirements in the system are stated as Rated Capacity and Rated Total Head.
Rated capacity is the flow rate determined by the total design capacity of the pumping station and the num-
ber of operating pumps.

Rated Capacity = 

Rated Total Head = System head at the rated capacity.

The pump is operated at the cross point of the pump Q-H (capacity-head) curve and the System Head
Curve as shown in Fig. 1-1. The head at the cross point is defined as the rated total head of pump.

Total design capacity of pumping station

Number of operating pumps

Fig. 1-1 PUMP OPERATION POINT

H
E

A
D

 (
H

)

RATED CAPACITY

FLOW RATE (Q)

PUMP Q-H CURVE

PUMP OPERATION POINT

SYSTEM HEAD CURVE
RATED TOTAL HEAD

3-250
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

V V

H
a

H
a

2. SYSTEM HEAD
System head of the system is the sum of the Static Head and the Dynamic Head, and its curve is a 
quadratic curve of the flow rate as shown in Fig. 1-2.

System Head = Static head (Ha) + Dynamic Head (Hd)

Fig. 1-3-1 STATIC HEAD

Static Head (Ha)
Static head arises from the difference between the pump suction pit water level and the discharge water
level.

Fig. 1-2 SYSTEM HEAD CURVE

H
E

A
D

 (
H

)

0 FLOW RATE (Q)

STATIC HEAD

DYNAMIC HEAD

SYSTEM
HEAD CURVE

MODEL: DSZ3

3-251
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

Dynamic Head (Hd)

Dynamic head for each case of static head in Fig. 1-3-1,2 is as follows:

Hd = Hf +

Where, Hf    : Hydraulic loss from the system suction end to the system discharge end except loss in the pump

: Velocity head at the system discharge end

V
2

2g

V
2

2g

V VV

H
a

H
a

MODEL: DSCA3
(Dry pit installation)

MODEL: DSC3
(Wet pit installation) Fig. 1-3-2 STATIC HEAD

3-252
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

3. PUMP OPERATION RANGE
As stated in paragraph 1, the pump is operated at the cross point of its Q-H curve and the system head
curve. Therefore, so long as the system head curve is not changed, the pump is operated at a design point.
In an actual pumping system, however, the static head varies depending on the suction and/or discharge
water level. As a result, the system head curve shifts as shown in Fig. 1-4. With this shift in the system
head curve, the cross point with pump Q-H varies, and this variation is termed as the Pump Operation
Range.

Fig. 1-4 PUMP OPERATION RANGE

FLOW RATE (Q)

H
E

A
D

(H
)

0 Q1 Q2

Q1 : MIN. OPE. CAPACITY
Q2 : MAX. OPE. CAPACITY

Ha1 : MAX. STATIC HEAD
Ha2 : MIN. STATIC HEAD

H1 : MAX. OPE. HEAD
H2 : MIN. OPE. HEAD

H1

H2

Ha1

Ha2

PUMP Q-H CURVE

PUMP OPERATION RANGE

SYSTEM HEAD CURVE AT
MIN. STATIC HEAD

SYSTEM HEAD CURVE AT
MAX. STATIC HEAD

3-253
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

4. NPSH
Adequate suction pressure at the impeller inlet is necessary for the pump to perform as designed. This 
suction pressure (absolute) converted into water head is called NPSH req. and is shown on the pump 
performance curve as one of the pump characteristics.
On the other hand, actual suction pressure (absolute) converted into water head is called NPSH av. and is
defined as shown in Fig. 1-5.

NPSH req. shall not exceed NPSH av. in the continuous operation range.

Fig. 1-5 NPSH av.

Impeller

Is

NPSH available (m)

NPSH av. = Is + Pa – Pv (–Ps)

where,

Is : submergence of impeller (m)

Pa : atmospheric pressure (m)

: under 1 atm, Pa = 10.3 m

Pv : vapor pressure (m)

: water at 20ºC, Pv = 0.24 m

(Ps : friction losses in suction pipe of dry pit (m))

3-254
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

5. AIR-ENTRAINING VORTEX
Lack of enough submergence causes the generation of harmful air-entraining vortices as shown in
Fig. 1-6. The submergence at which generation of vortices can be avoided is termed as the Minimum
Submergence (S).

Fig. 1-6 AIR-ENTRAINING VORTEX

Air-entraining vortex

S

3-255
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

6. SUBSURFACE VORTEX
In cases where the clearance between pump and walls is not adequate, harmful subsurface vortices 
generates as shown in Fig. 1-7.

Fig. 1-7 SUBSURFACE VORTICES

Subsurface vortices

C

B

3-256
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

Submergence and Clearance

Head Loss at QDC

2            3      4     5 10           20         30      40   50 100 200        300   400

0.6     0.8   1.0 2.0     3.0     4.0   5.0 6.0     8.0  10.0       15.0    20.0  25.0         40.0         60.0    80.0  100 X 103 (USGPM)
7.0     9.0 30.0           50.0    70.0

(m3/min)

4000

3000

2000

1000

500

400

300

200

100

150

100
90
80
70
60
50
45
40
35
30
25

20

15

10
9
8
7
6
5

4

5 10 20          30     40    50 100                  200

0.3             0.5 1.0        1.5      2.0          3.0     4.0    5.0              10.0            15.0     20.0       30.0    40.0 x 103 (USGPM)

(m3/min)

2.0

1.0

0.5

0.1

0.05

6.0

5.0

4.0

3.0

2.5

2.0

1.5

1.0

0.5

0.4

0.3

0.2

LW.L

S
C

Rated Capacity

(in) (mm)

(Ft) (m)

H
ea

d
 L

o
ss

 a
t 

Q
D

C

S min.

C min.

ø1
50

m
m

(6
”)

ø2
00

(8
”)

ø2
50

(1
0”

)
ø3

00
(1

2”
)

ø3
50

(1
4”

)
ø4

00
(1

6”
)

ø5
00

(2
0”

)
ø6

00
(2

4”
)

ø7
00

(2
8”

)
ø7

50
(3

0”
)

ø8
00

(3
2”

)

3-257
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

Submergence and Clearance

L.W.L.

B

S
C

Va

W
/2

W
W

W
/2

W : Minimum Clearance between Pumps

Va : Approaching Flow Velocity

Va < 0.3 m/s is recommended.

(mm)

4000

3000

2000

1000

500
400

300

200

100

(in)

150

100
90
80
70
60
50
45
40
35
30
25

20

15

10
9
8
7
6
5

4 2       3     4   5             10             20     30   40  50          100         200    300 400   m3/min)

0.6      0.8    1.0 2.0          3.0      4.0   5.0  6.0         8.0     10.0       15.0    20.0   25.0          40.0        60.0    80.0    100 x 103 (USGPM)
7.0     9.0 30.0               50.0     70.0

RATED CAPACITY

RATED CAPACITY

10 20      30    40  50             100     150   200 250 300  400

3000   4000 50000 10000 50000 100000
(GPM)

(m3/m)

S min.

B (desired)

C min.

W

(mm)

10000

5000

4000

3000

2000

1000

500

(in)

300
250

200

150

100
90
80
70
60
50

40

30
25

20

Min. Space for Pumps

3-258
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

Pipe Friction Loss
The following figure shows friction loss head per 1 m for straight steel pipe.

Hf2

d

F

3000        5000           10000            20000 50000          100000

10 20        30     40   50 100 200      300    400
(m3min)

(GPM)

(ft)

3.5
3.0
2.5

2.0
1.7
1.5

1.0
0.9
0.8
0.7
0.6

0.5

0.4

(m)

1.0
0.9
0.8
0.7
0.6
0.5

0.4

0.3

0.2

0.1

RATED CAPACITY

H
E

A
D

LO
S

S

RATED CAPACITY

H
E

A
D

LO
S

S
 p

er
 1

m
(k

)

10 20 30 40  50            100      150 200      300   400

3     4    5  6  7  8 910 12 14     20  25 30    40   50  60 70  80  100 x 103   (USGPM)

(m)

0.02

0.01

0.005
0.004

0.003

0.002

0.001

(Ft)

0.06

0.05
0.04

0.03

0.02

0.015

0.01
0.009
0.008
0.007
0.006
0.005

0.004

0.003

PI
PE

SI
ZE

 =
 4

50
 (1

8"
)

50
0 

(2
0"

)

60
0 

(2
4"

)
70

0 
(2

8"
)

75
0 

(3
0"

)
80

0 
(3

2"
)

90
0 

(3
6"

)
10

00
 (4

0"
)

10
50

 (4
2"

)
12

00
 (4

8"
)

13
00

 (5
2"

)

14
00

 (5
6"

)

15
00

 (6
0"

)

16
00

 (6
4"

)

18
00

 (7
2"

)

20
00

 (8
0"

)

(m3/min)

Nozzle Size d
12 (300)
14 (350)
16 (400)
18 (450)
20 (500)
24 (600)
28 (700)
30 (750)
32 (800)
36 (900)
40 (1000)
42 (1050)
44 (1100)
48 (1200)
54 (1350)
60 (1500)

F
133/4 (350)
153/4 (400)

1711/16 (450)
1911/16 (500)
215/8 (550)
259/16 (650)
291/2 (750)
311/2 (800)
337/16 (850)
373/8 (950)
415/16 (1050)
435/16 (1100)
451/4 (1150)
493/16 (1250)
551/8 (1400)
61 (1550)

UNIT: inch (mm)

Discharge Head Loss
The head loss of the “Tee” type discharge head can be obtained from the following. This head loss 
includes friction loss at the discharge nozzle within lengths “F” listed.

3-259
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
Hydraulic Data

Project: Model: Chk’d: Date:

Column Pipe Size
As an engineering work guideline, the nominal column pipe size for each unit is listed in DIMENSIONS.
The following table shows the recommended pipe dimensions of column pipe for Ebara DSZ3 pump.
The wall thicknesses listed below are minimum requirements. If pipes with other thickness are used, 
check that permissible inside diameter is not smaller than Min. inside dia. req.

d
14 (350)
16 (400)
18 (450)
20 (500)
24 (600)
28 (700)
30 (750)
32 (800)
36 (900)
40 (1000)
42 (1050)
44 (1100)
48 (1200)
54 (1350)
60 (1500)

J
1711/16 (450)
1911/16 (500)
215/8 (550)
235/8 (600)
259/16 (650)
291/2 (750)
311/2 (800)
337/16 (850)
373/8 (950)
415/16 (1050)
435/16 (1100)
451/4 (1150)
471/4 (1200)
531/8 (1350)
571/16 (1450)

D

20 (500)
24 (600)
30 (750)
36 (900)
40 (1000)
42 (1050)
48 (1200)
54 (1350)
60 (1500)
64 (1600)
72 (1800)

A

1711/16 (450)
215/8 (550)
259/16 (650)
311/2 (800)
337/16 (850)
357/16 (900)
415/16 (1050)
451/4 (1150)
513/16 (1300)
531/8 (1350)
591/16 (1500)

G

291/2 (750)
337/16 (850)
415/16 (1050)
471/4 (1200)
513/16 (1300)
531/8 (1350)

61 (1550)
6615/16 (1700)
7213/16 (1850)
763/4 (1950)
843/8 (2150)

P.C.D.
435/16 (1100)
471/4 (1200)
551/8 (1400)
63 (1600)

6615/16 (1700)
687/8 (1750)
763/4 (1950)
845/8 (2150)
909/16 (2300)
941/2 (2400)
1023/8 (2600)

Size
7/8 (M22)

15/16 (M24)
15/16 (M24)
13/16 (M30)
13/16 (M30)
13/16 (M30)
17/16 (M36)
17/16 (M36)
17/16 (M36)
17/16 (M36)
17/16 (M36)

P
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)
57/8 (150)

H
1615/16 (430)
1911/16 (500)
1911/16 (500)
2413/16 (630)
2413/16 (630)
2413/16 (630)
311/2 (800)
311/2 (800)
311/2 (800)
311/2 (800)
311/2 (800)

No.
4
4
6
6
8
8
8
8

12
12
14

Nominal
Size

18 (450)
20 (500)
24 (600)
28 (700)
30 (750)
32 (800)
36 (900)
40 (1000)
42 (1050)
48 (1200)
54 (1350)
56 (1400)
60 (1500)
64 (1600)
72 (1800)
80 (2000)

Inside
Dia.

171/2 (444.5)
191/2 (495.3)
231/2 (596.9)
273/8 (695.4)
293/8 (746.1)
313/8 (796.4)
353/8 (898.5)
393/8 (1000.2)
411/4 (1047.8)
471/2 (1200.2)
531/16 (1347.8)
551/16 (1398.6)
591/16 (1500.2)
63 (1599.4)
71 (1802.6)

7813/16 (2001.8)

Min. Inside
Dia. Req.

171/4 (439.9)
191/4 (488.2)
233/16 (588.8)
27 (685.9)
29 (736.2)

3015/16 (786.0)
3415/16 (887.1)
387/8 (987.7)
403/4 (1034.3)
4611/16 (1185.2)
523/8 (1330.5)
543/8 (1380.8)
585/16 (1481.4)
623/16 (1579.2)
701/8 (1780.4)
7713/16 (1977.0)

Weight (Plain End)
Lbs/Ft (Kgf/M)

47.7 (71.1)
53.1 (79.2)
63.8 (95.2)
91.9 (137.0)
98.6 (147.0)

105.3 (157.0)
118.7 (177.0)
130.8 (195.0)
167.1 (249.2)
189.8 (283.0)
267.6 (399.0)
279.2 (416.4)
297.7 (444.0)
349.4 (521.0)
393.6 (587.0)
506.6 (755.5)

Wall
Thickness

1/4 (6.4)
1/4 (6.4)
1/4 (6.4)

5/16 (7.9)
5/16 (7.9)
5/16 (7.9)
5/16 (7.9)
5/16 (7.9)
3/8 (9.5)
3/8 (9.5)

7/16 (11.9)
7/16 (11.9)
7/16 (11.9)
1/2 (13.1)
1/2 (13.1)
5/8 (15.1)

Outer
Dia.

18 (457.2)
20 (508.0)
24 (609.6)
28 (711.2)
30 (762.0)
32 (812.8)
36 (914.4)
40 (1016.0)
42 (1066.8)
48 (1219.2)
54 (1371.6)
56 (1422.4)
60 (1524.0)
64 (1625.6)
72 (1828.8)
80 (2032.8)

50
m

m
 F

O
R

 M
O

R
TA

R

UNIT: inch (mm)

UNIT: inch (mm)

H

Typical Foundation Plan
The following gives the typical foundation plan for each size of column pipe.

3-260
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
DSC3/DSCA3 Selection

Project: Model: Chk’d: Date:

Pump Total Head
How to determine total head at a given rated capacity is shown for the simple pumping system in Fig. 1.
Since the pump total head is equal to the system head at rated capacity, the pump total head may be obtained
from the following equation:

Pump total head (Ht) = Ha + Hd
= Ha + Hf1 + Hf2 =Hf3

Where, Ha : static head
Hd : hydraulic losses of piping

(including residual velocity head)

For dry pit application (DSCA3), hydraulic losses at
suction pipe must be included in Hd.

Pump Selection
In this paragraph, a sample selection of the DSC3/DSCA3 pump is demonstrated by using a simple wet pit case.

Conditions Rated Capacity  : 5000 GPM
Ha: 70 Ft
Hf1: 15 Ft

Step 1 – Selection of pump model
Assuming a sum of Ha and Hf1 as pump total head,
select pump from DSC3/DSCA3 Selection Chart.

In this case, the assumed total head is 85 Ft,
and E1152-1770-175HP is selected from
the Selection Chart.

From DIMENSIONS, QDC size is ø10 inch (250mm)
and pump name is 250DSC3.

Fig. 1 PUMP TOTAL HEAD

Fig. 2

Hf2: hydraulic loss at pump QDC

Hf1: hydraulic loss after pump QDC

H
a

H
a

Hd

3-261
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
DSC3/DSCA3 Selection

Project: Model: Chk’d: Date:
Hydraulic loss (Hf2) of ø10 inch (250mm) Q.D.C. at rated capacity is 2 Ft from HEAD LOSS AT QDC.

Ht = Ha + Hf1 + Hf2 = 70 + 15 + 2 = 87 Ft

At this stage, confirm that Ht is in the range of the initially selected pump with its performance curve.
Refer to HOW TO USE PERFORMANCE CURVE.

If Ht is out of the continuous operable range of initially selected pump, repeat with a higher head 
pump.

Step 2 – Motor Rating
Pump power input (L) can be determined using the following equation:

Pump power input (L) =
where,

SP Gr : specific gravity of the pumping liquid (for water, r = 1.0)
Q : capacity (USGPM)
H : total head (Ft)
Ep : pump efficiency (%)

Step 3 – Check Items on the Selected Pump
Check the selected pump for the following items:

• Pump continuous operation
Confirm that the pump continuous operation range based on the system head variation is within the
continuous operable range of the performance curve.

• NPSH
NPSH required shall not exceed NPSH available in the continuous pump operation range

• Motor rating
Pump power input shall not exceed motor rating in the pump operation range.

• Starting method and cable size
Check starting method and cable size with the ELECTRICAL DATA.

Q x H x Sp Gr
Ep x 3960

3-262
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
DSZ Pump Selection

Project: Model: Chk’d: Date:

PUMP TOTAL HEAD
How to determine total head at a given rated capacity is shown for the simple pumping system in Fig. 1.
Since the pump total head is equal to
the system head at rated capacity,
the pump total head may be obtained
from the following equation:

Pump total head = Ha + Hd
Pump total head = Ha + Hf1 + Hf2 + Hf3

Where, Ha : static head
Hd : dynamic head
Hf1 : column pipe loss
Hf2 : discharge head loss
Hf3 : discharge line friction loss

: (including residual velocity head)

Please note: that hydraulic losses up to 20 inches from the top of the pump are included in the pump
performance as pump internal losses and are excluded from the system head.

PUMP SELECTION
In this paragraph, a sample selection of the DSZ3 pump is demonstrated in four steps based on the following
conditions:

Conditions Rated capacity: 6000GPM
Ha: 15 ft
Hf3: 2 ft
E: 10 ft
Discharge 

nozzle dia.: 16 inch
(400 mm)

Hf1 : column pipe loss Hf2 : discharge head loss

Hf3 : discharge line
friction loss

H
a

Fig. 1     PUMP TOTAL HEAD

Fig. 2

Hf3

Hf2Hf1

S
E

L
P

N
20

"

H
a

3-263
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
DSZ Pump Selection

Project: Model: Chk’d: Date:

Step 1 Calculation of Hf1, Hf2 for the initially selected pump
Assume the pump total head to be the sum of Ha and Hf3, and select a pump from DSZ3 SELECTION 
CHART.

In this case, with the assumed total head 17 ft (= Ha + Hf3) and rated capacity of 6000 GPM, 
V0494-1170-40HP can be selected. The following dimensions are from DIMENSIONS.

D = 28 inch (700 mm)           P = 1711/16 inch (450 mm)           N = 591/16 inch (1500 mm)

On the other hand, minimum submergence S for the pump can be determined from SUBMERGENCE 
AND CLEARANCE at rated capacity of 6000GPM.

S = 30 inch (760 mm)

Hf1
Hf1 can be determined from the following equation:

Hf1 = k x L

k is the hydraulic loss of column pipe per unit length and can be determined from PIPE FRICTION 
LOSS.

In this case, from a column pipe size of 28 inch and a rated capacity of 6000GPM, k is determined as
0.0065 ft/M.

Pipe length L is given as:
L = E + S – (P + N + 1.7) = 10 + 2.5 – (1.5 + 4.9 + 1.7) = 4.4 ft.

Therefore,
Hf1 = 0.0065 x 4.4 x         = 0.0087 ft.

Hf2
Hf2 can be determined from the discharge nozzle size “d” and the rated capacity as shown in 
DISCHARGE HEAD LOSS.

In this case, with rated capacity of 6000GPM and a discharge nozzle size of 16 inch, Hf2 = 1.3 ft is 
determined.

1
3.28

3-264
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



EBARA Submersible Sewage and Propeller Pumps DSC3/DSCA3, DSZ3
DSZ Pump Selection

Project: Model: Chk’d: Date:

Step 2 – Total Head
Using Hf1 and Hf2 as determined in Step 1, Pump total head (Ht) can be obtained from the following 
equation:

Ht = Ha + Hf1 + Hf2 + Hf3 = 15 + 0.0087 + 1.3 + 2 = 18.3087 ft � Ht = 18.4 ft

At this stage, confirm that Ht is in the range of the initially selected pump with its performance curve.

Refer to HOW TO USE PERFORMANCE CURVE.
If Ht is out of the continuous operable range of initially selected pump, repeat from Step 1 with a 
higher head pump.

Step 3 – Motor Rating
Pump power input (L) can be determined using the following equation:

Pump power input (L) = 

where,
Sp Gr:specific gravity of the pumping liquid (for water, r = 1.0)
Q: capacity (USGPM)
H: total head (Ft)
Ep: pump efficiency (%)

Step 4 – Check Items on the Selected Pump
Check the selected pump for the following items.

• Pump continuous operation range
Confirm that the pump continuous operation range based on the system head variation is within the
continuous operable range of the performance curve.

• NPSH
NPSH req. shall not exceed NPSH av. in the continuous pump operation range.

• Motor rating
Pump power input shall not exceed motor rating in the pump operation range.

• Starting method and cable size
Check starting method and cable size with ELECTRICAL DATA.

Q x H x Sp Gr
Ep x 3960

3-265
rev. 01/02

IL - (847) 841-7867 Distributed by Pump Supply Inc MN - (651) 758-7867

IL - (847) 841-7867 PumpSupplyInc.com MN - (651) 758-7867

Illinois Location:
(847) 841-7867 

860 Church Rd Elgin, IL 60123

Minnesota Location:
(651) 758-7867

330 Mill Bay South Suite 1511 
Afton, MN 55001

PumpSupplyInc.com



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 10%)
  /CalRGBProfile (Apple RGB)
  /CalCMYKProfile (U.S. Sheetfed Coated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /ACaslonPro-Bold
    /ACaslonPro-BoldItalic
    /ACaslonPro-Italic
    /ACaslonPro-Regular
    /ACaslonPro-Semibold
    /ACaslonPro-SemiboldItalic
    /AdineKirnberg-S
    /AGaramond-Bold
    /AGaramond-BoldItalic
    /AGaramond-Italic
    /AGaramond-ItalicOsF
    /AGaramondPro-Bold
    /AGaramondPro-BoldItalic
    /AGaramondPro-Italic
    /AGaramondPro-Regular
    /AGaramondPro-Semibold
    /AGaramondPro-SemiboldItalic
    /AGaramond-Regular
    /AGaramond-RegularSC
    /AGaramond-Semibold
    /AGaramond-SemiboldItalic
    /AGaramond-SemiboldItalicOsF
    /AGaramond-SemiboldSC
    /AGaramond-Titling
    /AgencyFB-Bold
    /AgencyFB-Reg
    /AGOldFace-BoldOutline
    /AGOldFace-Outline
    /AJenson-Italic
    /AJensonPro-Bold
    /AJensonPro-BoldIt
    /AJensonPro-It
    /AJensonPro-Lt
    /AJensonPro-LtIt
    /AJensonPro-Regular
    /AJensonPro-Semibold
    /AJensonPro-SemiboldIt
    /AJenson-Regular
    /AJenson-RegularDisplay
    /AJenson-RegularSC
    /AJenson-Semibold
    /Albertus-ExtraBold
    /Albertus-Medium
    /AlbertusMedium-Italic
    /Aldine401BT-RomanA
    /Algerian
    /AlisonRegular
    /AllCaps
    /AlleycatBopICG
    /AlleycatICG
    /AmeliaBT-Regular
    /Americana
    /AmericanaBT-Roman
    /Americana-ExtraBold
    /AmericanTypewriter-Bold
    /AmericanTypewriter-BoldA
    /AmericanTypewriter-BoldCond
    /AmericanTypewriter-BoldCondA
    /AmericanTypewriter-Cond
    /AmericanTypewriter-CondA
    /AmericanTypewriter-Light
    /AmericanTypewriter-LightA
    /AmericanTypewriter-LightCond
    /AmericanTypewriter-LightCondA
    /AmericanTypewriter-Medium
    /AmericanTypewriter-MediumA
    /AmericanUncial
    /AmericanUncialBold
    /AmericanUncialInitials
    /AmericanUncialInitialsBold
    /AmericanUncialInitialsOpen
    /AmericanUncialOpen
    /Angelina
    /Anna
    /AntiqueOlive
    /AntiqueOlive-Bold
    /AntiqueOlive-Italic
    /ArchitextRegular
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /Arquitectura
    /ATFlemishScriptII
    /AtomicSansICG
    /AtomicSerifICG
    /Augustus
    /AvantGarde-Book
    /AvantGarde-BookOblique
    /AvantGarde-Demi
    /AvantGarde-DemiOblique
    /AvantGardeExtLitITC
    /AvantGardeExtLitITC-Oblique
    /AvantGardeExtLitITCTT
    /AvantGardeExtLitITCTTOblique
    /AvantGardeMdITC
    /AvantGardeMdITC-Bold
    /AvantGardeMdITC-BoldOblique
    /AvantGardeMdITC-Oblique
    /AvantGardeMdITCTT
    /AvantGardeMdITCTTBold
    /AvantGardeMdITCTTBoldOblique
    /AvantGardeMdITCTTOblique
    /BadCabbageICG
    /BadCabbageICG-Bold
    /BadCabbageICG-Primal
    /BadlocICG
    /BadlocICG-Bevel
    /BadlocICG-Compression
    /BaileySansITC-Bold
    /BaileySansITC-BoldItalic
    /BaileySansITC-Book
    /BaileySansITC-BookItalic
    /BakerSignetBT-Roman
    /BankGothicBT-Medium
    /Barmeno-Bold
    /Barmeno-ExtraBold
    /Barmeno-Medium
    /Barmeno-Regular
    /BaskOldFace
    /Batang
    /Bauhaus93
    /Bauhaus-Bold
    /Bauhaus-Demi
    /Bauhaus-Heavy
    /Bauhaus-Light
    /Bauhaus-Medium
    /Bellevue
    /BellGothic-Black
    /BellGothic-Light
    /BellMT
    /BellMTBold
    /BellMTItalic
    /Benguiat-Bold
    /Benguiat-Book
    /BenguiatGothic-Bold
    /BenguiatGothic-BoldOblique
    /BenguiatGothic-Book
    /BenguiatGothic-BookOblique
    /BenguiatGothic-Heavy
    /BenguiatGothic-HeavyOblique
    /BenguiatGothic-Medium
    /BenguiatGothic-MediumOblique
    /Berkeley-Book
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BerlinSmallCaps
    /BernardMT-Condensed
    /BernhardFashionBT-Regular
    /BernhardModernStd-Bold
    /BernhardModernStd-BoldIt
    /BernhardModernStd-Italic
    /BernhardModernStd-Roman
    /BickhamScriptPro-Bold
    /BickhamScriptPro-Regular
    /BickhamScriptPro-Semibold
    /BiffoMT
    /BirchStd
    /Blabla
    /BlackadderITC-Regular
    /BlackBeard
    /BlackJackRegular
    /Blackoak
    /Bloody
    /Bloodyslime
    /BocaRatonICG
    /BocaRatonICGSolid
    /BocaRatonICG-Solid
    /Bodoni-BoldCondensed
    /Bodoni-Book
    /Bodoni-BookItalic
    /BodoniBT-Book
    /BodoniHighlightICG
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /Bodoni-PosterCompressed
    /Bodoni-PosterItalic
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /Bookman-Bold
    /Bookman-BoldItalic
    /Bookman-Demi
    /Bookman-DemiItalic
    /Bookman-Light
    /Bookman-LightItalic
    /Bookman-Medium
    /Bookman-MediumItalic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BoulderRegular
    /BradleyHandITC
    /BritannicBold
    /BroadbandICG
    /Broadview
    /Broadway
    /BroadwayBT-Regular
    /BrushScriptBT-Regular
    /BrushScriptMT
    /BrushScriptStd
    /BubbledotICG-CoarseNeg
    /BubbledotICG-CoarsePos
    /BubbledotICG-FineNeg
    /BubbledotICG-FinePos
    /BurweedICG
    /BurweedICG-Thorny
    /BV_Rondes
    /BV_Rondes_Boite
    /BV_Rondes_Ital
    /BV_Rondes2
    /BV_Rondes2_ital
    /BVCursiveItal-Italic
    /Caesar
    /CaflischScriptPro-Regular
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /CalligrapherRegular
    /CalvinAndHobbesNormal
    /CalvinAndHobbesOutline
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Campaign-Normal
    /CanarsieSlabBoldJL
    /CanarsieSlabJL
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /CapitalisTypOasisMedium
    /Carta
    /CaslonTwoTwentyFour-Black
    /CaslonTwoTwentyFour-BlackIt
    /CaslonTwoTwentyFour-Bold
    /CaslonTwoTwentyFour-BoldIt
    /CaslonTwoTwentyFour-Book
    /CaslonTwoTwentyFour-BookIt
    /CaslonTwoTwentyFour-Medium
    /CaslonTwoTwentyFour-MediumIt
    /Castellar
    /CastellarMT
    /CelticHand
    /Centaur
    /Century
    /Century-Bold
    /Century-BoldItalic
    /Century-Book
    /Century-BookItalic
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /Century-Light
    /Century-LightItalic
    /CenturyOldStyleStd-Bold
    /CenturyOldStyleStd-Italic
    /CenturyOldStyleStd-Regular
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /Century-Ultra
    /Century-UltraItalic
    /CGOmega
    /CGOmega-Bold
    /CGOmega-BoldItalic
    /CGOmega-Italic
    /CGTimes
    /CGTimes-Bold
    /CGTimes-BoldItalic
    /CGTimes-Italic
    /Champagne
    /Champignon
    /ChaparralPro-Bold
    /ChaparralPro-BoldIt
    /ChaparralPro-Italic
    /ChaparralPro-Light
    /ChaparralPro-LightIt
    /ChaparralPro-Regular
    /ChaparralPro-Semibold
    /ChaparralPro-SemiboldIt
    /CharlemagneStd-Bold
    /CharlemagneStd-Regular
    /CharlotteSansBoldPlain
    /CharlotteSansBookItalicPlain
    /CharlotteSansBookPlain
    /CharlotteSansMediumPlain
    /Cheltenham-Bold
    /Cheltenham-BoldItalic
    /Cheltenham-Book
    /Cheltenham-BookItalic
    /Cheltenham-HandtooledBdIt
    /Cheltenham-HandtooledBold
    /Cheltenham-Light
    /Cheltenham-LightItalic
    /Cheltenham-Ultra
    /Cheltenham-UltraItalic
    /Cheq
    /ChiladaICG-Cuatro
    /ChiladaICG-Dos
    /ChiladaICG-Tres
    /ChiladaICG-Uno
    /Chiller-Regular
    /ChiselBold
    /ChiselNormal
    /ChopinScript
    /Christmas
    /Christmas-Debbie
    /City-Bold
    /City-BoldItalic
    /City-Medium
    /City-MediumItalic
    /Clarendon-Condensed-Bold
    /Clearface-Black
    /Clearface-BlackItalic
    /Clearface-Bold
    /Clearface-BoldItalic
    /Clearface-Heavy
    /Clearface-HeavyItalic
    /Clearface-Regular
    /Clearface-RegularItalic
    /College
    /CollegeBold
    /CollegeCondensed
    /CollegeSemiCondensed
    /Collegiate
    /Collegiate-Normal
    /ColonnaMT
    /ComicSansMS
    /ComicSansMS-Bold
    /CommercialScript
    /CommercialScriptAlt
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CooperBlack
    /CopperplateGothic-Bold
    /CopperplateGothicBT-Roman
    /CopperplateGothic-Light
    /Copperplate-ThirtyThreeBC
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /Cornerstone
    /Coronet
    /Courier
    /Courier-Bold
    /Courier-BoldOblique
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Courier-Oblique
    /CourierStd
    /CourierStd-Bold
    /CourierStd-BoldOblique
    /CourierStd-Oblique
    /CurlzMT
    /Cursif
    /Cursif&Lignes
    /Cushing-Bold
    /Cushing-BoldItalic
    /Cushing-Book
    /Cushing-BookItalic
    /Cushing-Heavy
    /Cushing-HeavyItalic
    /Cushing-Medium
    /Cushing-MediumItalic
    /DaisyMF
    /DavidaD
    /Daville
    /DigitalICG
    /DomCasual
    /Dominican
    /DominicanItalic
    /DominicanSmallCaps
    /DorchesterScriptMT
    /DorovarFLF-Carolus
    /EastBlocICG-Closed
    /EastBlocICG-ClosedAlt
    /EastBlocICG-Open
    /EastBlocICG-OpenAlt
    /Ecolier
    /Ecolier_court
    /Ecolier_CP
    /Ecolier_lignes
    /Ecolier_lignes_court
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EmpireBT-Regular
    /EmpiricRoman
    /Engebrechtre
    /Engebrechtre-Bold
    /Engebrechtre-BoldItalic
    /EngebrechtreExpanded
    /EngebrechtreExpanded-Bold
    /EngebrechtreExpanded-BoldItalic
    /EngebrechtreExpanded-Italic
    /Engebrechtre-Italic
    /English
    /English157BT-Regular
    /EngraversGothicBT-Regular
    /EngraversMT
    /EngraversRomanBT-Bold
    /Enigmatic
    /EraserDust
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /Esprit-Black
    /Esprit-BlackItalic
    /Esprit-Bold
    /Esprit-BoldItalic
    /Esprit-Book
    /Esprit-BookItalic
    /Esprit-Medium
    /Esprit-MediumItalic
    /EstrangeloEdessa
    /Eurostile-Black-DTC
    /EurostileBold
    /EurostileExtended-Roman-DTC
    /EurostileRegular
    /EverAfter
    /Exmouth
    /FajitaICGMild
    /FarfelICGFeltTip
    /FarfelICG-FeltTip
    /FarfelICGPencil
    /FarfelICG-Pencil
    /FarrierICG
    /FarrierICG-Black
    /FarrierICG-Bold
    /FauxSnowBRK
    /FeastofFleshBB
    /FeastofFleshBBItalic
    /FelixTitlingMT
    /Fenice-Bold
    /Fenice-BoldOblique
    /Fenice-Light
    /Fenice-LightOblique
    /Fenice-Regular
    /Fenice-RegularOblique
    /Fenice-Ultra
    /Fenice-UltraOblique
    /FigaroMT
    /Flakes
    /FlamencoD
    /FlamencoInlD
    /Flora-Bold
    /Flora-Medium
    /FootlightMTLight
    /Formata-Italic
    /Formata-Medium
    /Formata-MediumItalic
    /Formata-Regular
    /ForteMT
    /FrancophilSans
    /FrancophilSans-Bold
    /FranKleinBold
    /FranKleinBook
    /FranKleinFaces
    /FranKleinMedium
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Condensed
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-ExtraCond
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /FranklinGothic-Roman
    /FreebooterScript
    /FreebooterScript-Alts
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Freshman
    /Friday13
    /Friday13BonusNFI
    /Friday13SH
    /FrizQuadrata
    /FrizQuadrata-Bold
    /Frosty'sWinterland
    /FunlandParkJL
    /FuturaBT-Light
    /FuturaBT-LightCondensed
    /FuturaBT-Medium
    /FuturaLT
    /FuturaLT-Light
    /Galliard-Black
    /Galliard-BlackItalic
    /Galliard-Bold
    /Galliard-BoldItalic
    /Galliard-Italic
    /Galliard-Roman
    /Galliard-Ultra
    /Galliard-UltraItalic
    /Garamond
    /Garamond-Bold
    /Garamond-BoldCondensed
    /Garamond-BoldCondensedItalic
    /Garamond-BoldItalic
    /Garamond-Book
    /Garamond-BookCondensed
    /Garamond-BookCondensedItalic
    /Garamond-BookItalic
    /Garamond-Halbfett
    /Garamond-Italic
    /Garamond-KursivHalbfett
    /Garamond-Light
    /Garamond-LightCondensed
    /Garamond-LightCondensedItalic
    /Garamond-LightItalic
    /Garamond-Ultra
    /Garamond-UltraCondensed
    /Garamond-UltraCondensedItalic
    /Garamond-UltraItalic
    /GarrisonCondSans
    /GarrisonCondSansBOLD
    /GarrisonExtraBoldSansBOLD
    /GarrisonLightSans
    /GarrisonLightSansBOLD
    /GarrisonLightSansBOLDITALIC
    /GarrisonLightSansITALIC
    /Gautami
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /GesseleRegular
    /GiddyupStd
    /Gigi-Regular
    /GillSans
    /GillSans-Bold
    /GillSans-BoldItalic
    /GillSans-ExtraBold
    /GillSans-Italic
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /Giovanni-Black
    /Giovanni-BlackItalic
    /Giovanni-Bold
    /Giovanni-BoldItalic
    /Giovanni-Book
    /Giovanni-BookItalic
    /GloucesterMT-ExtraCondensed
    /Goodfish
    /Goodfish-Bold
    /Goodfish-BoldItalic
    /Goodfish-Italic
    /Gothic821CondensedBT-Regular
    /Goudy-ExtraBold
    /Goudy-Heavyface
    /Goudy-HeavyfaceItalic
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /GoudyTextMT
    /Grinched
    /Haettenschweiler
    /HANA-Normal
    /HandelGothicBT-Regular
    /HarlowSolid
    /Harrington
    /Helvetica
    /Helvetica-Black
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Condensed
    /Helvetica-Condensed-Black
    /Helvetica-Condensed-BlackObl
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-Light
    /Helvetica-Condensed-LightObl
    /Helvetica-Condensed-Oblique
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /HelveticaNeueLTStd-Bd
    /HelveticaNeueLTStd-Cn
    /HelveticaNeueLTStd-Lt
    /HelveticaNeueLTStd-Roman
    /Helvetica-Oblique
    /HighTowerText-Italic
    /HighTowerText-Reg
    /HoneyScript-Light
    /HoneyScript-SemiBold
    /HotPizza
    /HumanaSansITC-Bold
    /HumanaSansITC-BoldItalic
    /HumanaSansITC-Light
    /HumanaSansITC-LightItalic
    /HumanaSansITC-Medium
    /HumanaSansITC-MediumItalic
    /Humanist521BT-Roman
    /Imago-ExtraBold
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /Isadora-Bold
    /Isadora-Regular
    /ItcEras-Bold
    /ItcEras-Book
    /ItcEras-Demi
    /ItcEras-Light
    /ItcEras-Medium
    /ItcEras-Ultra
    /ItcKabel-Bold
    /ItcKabel-Book
    /ItcKabel-Demi
    /ItcKabel-Medium
    /ItcKabel-Ultra
    /Jokerman-Regular
    /JuiceITC-Regular
    /KallosITC-Bold
    /KallosITC-BoldItalic
    /KallosITC-Book
    /KallosITC-BookItalic
    /KallosITC-Medium
    /KallosITC-MediumItalic
    /Kartika
    /Kaufmann
    /Kaufmann-Bold
    /KenyanCoffee
    /KenyanCoffee-Bold
    /KenyanCoffee-BoldItalic
    /KenyanCoffee-Italic
    /Korinna-Bold
    /Korinna-KursivBold
    /Korinna-KursivRegular
    /Korinna-Regular
    /KozGoPro-Bold
    /KozGoPro-ExtraLight
    /KozGoPro-Heavy
    /KozGoPro-Light
    /KozGoPro-Medium
    /KozGoPro-Regular
    /KozGoStd-Bold
    /KozGoStd-ExtraLight
    /KozGoStd-Heavy
    /KozGoStd-Light
    /KozGoStd-Medium
    /KozGoStd-Regular
    /KozMinPro-Bold
    /KozMinPro-ExtraLight
    /KozMinPro-Heavy
    /KozMinPro-Light
    /KozMinPro-Medium
    /KozMinPro-Regular
    /KozMinStd-Bold
    /KozMinStd-ExtraLight
    /KozMinStd-Heavy
    /KozMinStd-Light
    /KozMinStd-Medium
    /KozMinStd-Regular
    /KristenITC-Regular
    /KunstlerScript
    /Latha
    /LatinExtraCondensedBT-Regular
    /LatinoElongatedPlain
    /LatinWide
    /LaurenScript
    /Leawood-Black
    /Leawood-BlackItalic
    /Leawood-Bold
    /Leawood-BoldItalic
    /Leawood-Book
    /Leawood-BookItalic
    /Leawood-Medium
    /Leawood-MediumItalic
    /LemonadeICG
    /LemonadeICGBold
    /LemonadeICG-Bold
    /LetterGothic
    /LetterGothic12PitchBT-Roman
    /LetterGothic-Bold
    /LetterGothic-BoldItalic
    /LetterGothic-Italic
    /LetterGothicMT
    /LetterGothicMT-Bold
    /LetterGothicMT-BoldOblique
    /LetterGothicMT-Oblique
    /LetterGothicStd
    /LetterGothicStd-Bold
    /LetterGothicStd-BoldSlanted
    /LetterGothicStd-Slanted
    /LibelSuit
    /LitheBold
    /LitheExtrabold
    /LitheRegular
    /Lithos-Black
    /LithosPro-Black
    /LithosPro-Bold
    /LithosPro-ExtraLight
    /LithosPro-Light
    /LithosPro-Regular
    /Lithos-Regular
    /LubalinGraph-Book
    /LubalinGraph-BookOblique
    /LubalinGraph-Demi
    /LubalinGraph-DemiOblique
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /Machine
    /Machine-Bold
    /Madrone
    /Magneto-Bold
    /MaiandraGD-Regular
    /Mangal-Regular
    /Marathon
    /MarathonII
    /Marigold
    /MaturaMTScriptCapitals
    /MediaGothic
    /MendozaRoman-Bold
    /MendozaRoman-BoldItalic
    /MendozaRoman-Book
    /MendozaRoman-BookItalic
    /MendozaRoman-Medium
    /MendozaRoman-MediumItalic
    /MesquiteStd
    /Metro
    /Metrolox
    /MetropolisICG
    /MicrosoftSansSerif
    /Minion-Ornaments
    /MinionPro-Bold
    /MinionPro-BoldIt
    /MinionPro-It
    /MinionPro-Regular
    /MinionPro-Semibold
    /MinionPro-SemiboldIt
    /MinionStd-Black
    /MiniPics-ASL
    /MiniPics-ConfettiMedium
    /MiniPics-International
    /MiniPics-LilCreatures
    /MiniPics-LilDinos
    /MiniPics-LilFeatures
    /MiniPics-LilFishies
    /MiniPics-LilFolks
    /MiniPics-NakedCityDay
    /MiniPics-NakedCityNight
    /MiniPics-UprootedLeaf
    /MiniPics-UprootedTwig
    /MiniPics-Zafrica
    /Misfits
    /Mistral
    /MKBritishWriting
    /Modern-Regular
    /MonogramsToolbox
    /MonotypeCorsiva
    /MonotypeSorts
    /MS-Mincho
    /MSOutlook
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MVBoli
    /Myriad-Bold
    /Myriad-BoldItalic
    /Myriad-CnBold
    /Myriad-CnBoldItalic
    /Myriad-CnItalic
    /Myriad-Condensed
    /Myriad-Italic
    /MyriadPro-Black
    /MyriadPro-BlackCond
    /MyriadPro-BlackCondIt
    /MyriadPro-BlackIt
    /MyriadPro-Bold
    /MyriadPro-BoldCond
    /MyriadPro-BoldCondIt
    /MyriadPro-BoldIt
    /MyriadPro-Cond
    /MyriadPro-CondIt
    /MyriadPro-It
    /MyriadPro-Light
    /MyriadPro-LightCond
    /MyriadPro-LightCondIt
    /MyriadPro-LightIt
    /MyriadPro-Regular
    /MyriadPro-Semibold
    /MyriadPro-SemiboldCond
    /MyriadPro-SemiboldCondIt
    /MyriadPro-SemiboldIt
    /Myriad-Roman
    /MyriadStd-Sketch
    /MyriadStd-Tilt
    /NarrowbandPrimeICG
    /NarrowbandPrimeICGBold
    /NarrowbandPrimeICG-Bold
    /New
    /NewBaskerville-Bold
    /NewBaskerville-BoldItalic
    /NewBaskerville-Italic
    /NewBaskerville-Roman
    /NewCenturySchlbk-Bold
    /NewCenturySchlbk-BoldItalic
    /NewCenturySchlbk-Italic
    /NewCenturySchlbk-Roman
    /NewGenevaNineICG
    /NewGenevaNineICG-Point
    /NewsGothicStd
    /NewsGothicStd-Bold
    /NewsGothicStd-BoldOblique
    /NewsGothicStd-Oblique
    /NewtronICG
    /NewtronICG-Alt
    /NewtronICG-Open
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /NiteClub
    /Nougat-ExtraBlack
    /NuevaStd-Bold
    /NuevaStd-BoldItalic
    /NuevaStd-Italic
    /NuevaStd-Light
    /NuevaStd-LightItalic
    /NuevaStd-Regular
    /NuptialScript
    /ObeliskITC-Bold
    /ObeliskITC-Light
    /ObeliskITC-LightItalic
    /ObeliskITC-Medium
    /OCRA
    /OCRAExtended
    /OCR-AII
    /OCRAStd
    /OCRB
    /OCRBMT
    /OfficinaSans-Bold
    /OfficinaSans-BoldItalic
    /OfficinaSans-Book
    /OfficinaSans-BookItalic
    /OfficinaSerif-Bold
    /OfficinaSerif-BoldItalic
    /OfficinaSerif-Book
    /OfficinaSerif-BookItalic
    /Ogirema
    /OgiremaBold
    /OgiremaItalic
    /OldEnglishTextMT
    /OldGlory
    /OldSansBlack
    /OldSansBlackUnderline
    /OliJo-Bold
    /Oliver
    /OmniBlack
    /OmniBlackItalic
    /OmniBold
    /OmniBoldItalic
    /OmniBook
    /OmniBookItalic
    /Onyx
    /OnyxBT-Regular
    /OzHandicraftBT-Roman
    /PackardAntique-Bold
    /PackardAntique-Regular
    /PalaceScriptMT
    /Palatino-Bold
    /Palatino-BoldItalic
    /Palatino-Italic
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Palatino-Roman
    /Papyrus-Regular
    /ParchmentMF
    /Parchment-Regular
    /ParisFlashICG
    /Parisian
    /ParisianBT-Regular
    /ParkAvenueBT-Regular
    /Patrick
    /Penshurst
    /Penshurst_Shadow
    /Penshurst-Bold
    /PepitaMT
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /Philadelphia
    /PiranesiItalicBT-Regular
    /Playbill
    /Poetica-SuppOrnaments
    /Ponderosa
    /PoorRichard-Regular
    /Poplar
    /PoplarStd
    /PowellAntique
    /PowellAntique-Bold
    /PraguePlain
    /PrestigeEliteStd
    /PrestigeEliteStd-Bd
    /PrestigeEliteStd-BdSlanted
    /PrestigeEliteStd-Slanted
    /Pristina-Regular
    /PTBarnumBT-Regular
    /QuicksansAccurateICG
    /QuicksansAccurateICG-Fill
    /QuicksansAccurateICG-Guides
    /QuicksansAccurateICG-Out
    /QuicksansAccurateICG-Solid
    /QuickType
    /QuickType-Bold
    /QuickTypeCondensed
    /QuickTypeCondensed-Bold
    /QuickTypeCondensed-Italic
    /QuickTypeII
    /QuickTypeII-Bold
    /QuickTypeIICondensed
    /QuickTypeIICondensed-Bold
    /QuickTypeIICondensed-Italic
    /QuickTypeII-Italic
    /QuickTypeIIMono
    /QuickTypeIIPi
    /QuickType-Italic
    /QuickTypeMono
    /QuickTypePi
    /Qwerty-Mac
    /Qwerty-PC
    /Raavi
    /RageItalic
    /Ravie
    /RepublikSansICG-01
    /RepublikSansICG-02
    /RepublikSansICG-03
    /RepublikSansICG-03Alt
    /RepublikSerifICG-01
    /RepublikSerifICG-02
    /RepublikSerifICG-03
    /RepublikSerifICG-03Alt
    /RockneyBold
    /RockneyExtrabold
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /Rosart
    /Rosewood-Fill
    /Rosewood-Regular
    /RosewoodStd-Fill
    /RosewoodStd-Regular
    /RubinoSansICG
    /RubinoSansICG-Fill
    /RubinoSansICG-Guides
    /RubinoSansICG-Out
    /RubinoSansICG-Solid
    /RussellSquare
    /RussellSquare-Oblique
    /RyoDispStd-Bold
    /RyoDispStd-ExtraBold
    /RyoDispStd-Heavy
    /RyoDispStd-Medium
    /RyoDispStd-SemiBold
    /RyoTextStd-ExtraLight
    /RyoTextStd-Light
    /RyoTextStd-Medium
    /RyoTextStd-Regular
    /Saloon
    /Santa'sSleighFull
    /Santa'sSleighFull-Bold
    /Santa'sSleighFull'Deluxe'
    /SarahScript
    /Scriptina
    /Scriptina-Alternates
    /ScriptMTBold
    /SerpentineSansICG
    /SerpentineSansICGBold
    /SerpentineSansICG-Bold
    /SerpentineSansICGBoldOblique
    /SerpentineSansICG-BoldOblique
    /SerpentineSansICGLight
    /SerpentineSansICG-Light
    /SerpentineSansICGLightOblique
    /SerpentineSansICG-LightOblique
    /SerpentineSansICGOblique
    /SerpentineSansICG-Oblique
    /SevenSansICG
    /SFCollegiate
    /SFCollegiate-Italic
    /SFCollegiateSolid
    /SFCollegiateSolid-Bold
    /SFCollegiateSolid-BoldItalic
    /SFCollegiateSolid-Italic
    /SFFoxboroScript
    /SFFoxboroScript-Bold
    /SFFoxboroScript-BoldItalic
    /SFFoxboroScriptExtended
    /SFFoxboroScriptExtended-Bold
    /SFFoxboroScriptExtended-BoldItalic
    /SFFoxboroScriptExtended-Italic
    /SFFoxboroScript-Italic
    /SFIronGothic
    /SFIronGothic-Bold
    /SFIronGothic-BoldOblique
    /SFIronGothicExtended
    /SFIronGothicExtended-Oblique
    /SFIronGothic-Oblique
    /SFIronGothicShaded
    /SFIronGothicShaded-Oblique
    /SFWillamette
    /SFWillamette-Bold
    /SFWillamette-BoldItalic
    /SFWillametteExtended
    /SFWillametteExtended-Bold
    /SFWillametteExtended-BoldItalic
    /SFWillametteExtended-Italic
    /SFWillamette-Italic
    /SherwoodRegular
    /ShotgunBT-Regular
    /ShowcardGothic-Reg
    /Shruti
    /Signature
    /SignatureLight
    /SimSun
    /SisterEurope
    /SisterEuropeItalic
    /SisterEuropeShadow
    /SisterEuropeShadowItalic
    /SisterEuropeWide
    /SisterEuropeWideItalic
    /SkaterDudes
    /Slimbach-Black
    /Slimbach-BlackItalic
    /Slimbach-Bold
    /Slimbach-BoldItalic
    /Slimbach-Book
    /Slimbach-BookItalic
    /Slimbach-Medium
    /Slimbach-MediumItalic
    /SmileICGMedium
    /SmileICG-Medium
    /SnapITC-Regular
    /Sonata
    /SonicCutThruBT-Heavy
    /Souvenir-Demi
    /Souvenir-DemiItalic
    /Souvenir-Light
    /Souvenir-LightItalic
    /Spinach
    /SpinachOutline
    /Spring-Light
    /Spring-Regular
    /SquareSlabserif711BT-Bold
    /StaidGothic
    /StaidGothicBlack
    /StaidGothicBlackItalic
    /StaidGothicBold
    /StaidGothicBoldItalic
    /StaidGothicExtrabold
    /StaidGothicExtraboldItalic
    /StaidGothicHeavy
    /StaidGothicHeavyItalic
    /StaidGothicItalic
    /StaidGothicLight
    /StaidGothicLightItalic
    /Steelfish
    /Steelfish-Bold
    /SteelfishOutline
    /Stencil
    /StencilStd
    /Stentiga
    /StoneSerif
    /StoneSerif-Bold
    /StoneSerif-BoldItalic
    /StoneSerif-Italic
    /StoneSerif-Semibold
    /StoneSerif-SemiboldItalic
    /Sugarfish-Regular
    /Swiss721BT-BlackCondensed
    /Swiss721BT-BlackExtended
    /Swiss721BT-Heavy
    /Swiss721BT-Roman
    /Swiss721BT-Thin
    /Swiss921BT-RegularA
    /Swiss924BT-RegularB
    /Sylfaen
    /Symbol
    /Tahoma
    /Tahoma-Bold
    /TallDarkAndHandsome-Condensed
    /Tekton
    /Tekton-Bold
    /TempusSansITC
    /TempusSansITC-Italic
    /TheyKilledKenny!
    /Tiepolo-Black
    /Tiepolo-BlackItalic
    /Tiepolo-Bold
    /Tiepolo-BoldItalic
    /Tiepolo-Book
    /Tiepolo-BookItalic
    /Times-Bold
    /Times-BoldItalic
    /Times-Italic
    /TimesLTStd-Italic
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Times-Roman
    /TimesSansSerif
    /Trajan-Bold
    /TrajanPro-Bold
    /TrajanPro-Regular
    /Trajan-Regular
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /TwentiethCenturyPoster
    /Typodermic
    /Univers
    /Univers-Black
    /Univers-BlackOblique
    /Univers-Bold
    /Univers-BoldOblique
    /Univers-Condensed
    /Univers-CondensedBold
    /Univers-CondensedBoldOblique
    /Univers-CondensedLight
    /Univers-CondensedLightOblique
    /Univers-CondensedOblique
    /Univers-Light
    /Univers-LightOblique
    /Univers-Oblique
    /Usherwood-Black
    /Usherwood-BlackItalic
    /Usherwood-Bold
    /Usherwood-BoldItalic
    /Usherwood-Book
    /Usherwood-BookItalic
    /Usherwood-Medium
    /Usherwood-MediumItalic
    /Varsity
    /VarsityRegular
    /Veljovic-Black
    /Veljovic-BlackItalic
    /Veljovic-Bold
    /Veljovic-BoldItalic
    /Veljovic-Book
    /Veljovic-BookItalic
    /Veljovic-Medium
    /Veljovic-MediumItalic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /VillageSquare
    /VinerHandITC
    /Vitamin
    /Vitaminoutlined
    /Vivaldii
    /VivaStd-Bold
    /VivaStd-Light
    /VivaStd-Regular
    /VladimirScript
    /Vrinda
    /WadeSansLightPlain
    /WarnockPro-Bold
    /WarnockPro-BoldCapt
    /WarnockPro-BoldDisp
    /WarnockPro-BoldIt
    /WarnockPro-BoldItCapt
    /WarnockPro-BoldItDisp
    /WarnockPro-BoldItSubh
    /WarnockPro-BoldSubh
    /WarnockPro-Capt
    /WarnockPro-Disp
    /WarnockPro-It
    /WarnockPro-ItCapt
    /WarnockPro-ItDisp
    /WarnockPro-ItSubh
    /WarnockPro-Light
    /WarnockPro-LightCapt
    /WarnockPro-LightDisp
    /WarnockPro-LightIt
    /WarnockPro-LightItCapt
    /WarnockPro-LightItDisp
    /WarnockPro-LightItSubh
    /WarnockPro-LightSubh
    /WarnockPro-Regular
    /WarnockPro-Semibold
    /WarnockPro-SemiboldCapt
    /WarnockPro-SemiboldDisp
    /WarnockPro-SemiboldIt
    /WarnockPro-SemiboldItCapt
    /WarnockPro-SemiboldItDisp
    /WarnockPro-SemiboldItSubh
    /WarnockPro-SemiboldSubh
    /WarnockPro-Subh
    /Webdings
    /White-Bold
    /Willow
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /WontonICG
    /Woodcut
    /WoodtypeOrnaments-One
    /WoodtypeOrnamentsStd
    /WoodtypeOrnaments-Two
    /WorstveldSlingExtra
    /WorstveldSlingExtra2Oblique
    /WorstveldSlingExtraOblique
    /WWFlakes
    /XmasDings
    /ZapfChancery-MediumItalic
    /ZapfDingbats
    /ZombieA
    /ZurichBT-ExtraCondensed
    /ZurichBT-RomanExtended
    /ZurichCalligraphicItalic
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /PDFX1a:2001
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice




